
a-

USN t0cs63

(08 Marks)

(06 Marks)
(06 Marks)

Eliminate left recursion fiom
(06 Marks)

(10 Marks)
(05 Marks)

(05 Marks)

(10 Marks)
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Sixth Semester B.E. Degree ExaminatiOn, June/July 2023

Gompiler Design

Time: 3 hrs. Max. Marks:100

Note: Answer any FIVE full questions, seleeliig atleast TWO quesiioins from each part.

PART _A

a. Explain with a diagranr, the phasesrOi'Compiler.
b. Write the transition diagram for the following :

i) Identifier ir) Unsigned number.
c. Write a program for look ahead code with sentinels.

2 a. Describe an algorithm'used for eliminating the left recursion.

the grammar : S.-ir:Aa lb A -+ Ac I Sd l a.

3 a. Given the grammer :

S -+ aABb
A-+cle
B-+dle
D Compute FIRST and FOLLOW sets.

iD Construct the predictive parsing table
iii) Show the moves made by predictive parser on the input ; acdb.

b. Explain with a neat diagram, the model of a table driven predictive parser

S-+SS+lSS*la.

4 a. Constiuct the canonicat,f,n6i; Item sets for the following grammar :

S-+AA
A+aAlb.

b. Showthatthe fuIl'bwinggrammarisambigubti's : E -)E +E lE * E l(E) lid.
Write an equivalent unambiguous grammar for the same. (06 Marks)

c. What are the key problems with top down parse? Write a recursive descent parser for the

grammar : S -+ cAd A -+ ab I a. (08 Marks)

c. What is handle pruning? Give a.bottom * up parse tu'r the input : la;a * 4't-* and grammar :

5a.
b.

b. Construct LALR parsing table for the grammar shown in Q4 (a) using LR(1) items.
(10 Marks)

PART - B

Define lnherited and Synthesized attributes. Give examples. (06 Marks)

Give the SDD for simple desk calculator and draw dependency graph for expression,

l* 2* 3 * (4 + 5)n . (10 Marks)

Write SDD that generates either a basic type or an array type. (04 Marks)c.
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7 a. With a neat diagrarq describe the ggrcfffitdtructure of an activation rceord. (06 Marks)

,.tt" 1'

a. Translate the arithmetic expression : a + - (b + c) into"qtaciruples, triples and indirect triples.

':: ,it;;::r (06 Marks)

b. Give a semantic action for : S -+ if (B) Sr else Sp;,,. r'' (06 Marks)

c. Develop SDD to produce directed a cyclic..ESffi for an expression. Show the steps for

constructing the directed acyclic graph fu. th$ffiression : a t a* (b -Q + (b - c) * d.

ff-t u 
," ',,,. 

., (08 Marks)

b. Explain in the sirategy for reducip$Brymentation in leap memory. (08 Marks)

c. Explain briefly thJ performaffiXi€trics to be conside@while designing a garbage

10cs63

a. Explain the main issues ia codE generation. (10 Marks)
,i ^ rr *"}*_ _ __:__-- ,"+*ffi$*"b. For the following pro#mmegment: {1ffifori=ltOl0do !.1i, -'

(10 Marks)
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